


Whlch of the following numbers

L
2,4, 16, 52, 132, 282, ? ’:)—’
(a) S72
(b) 534
(c) 527
(d) 512



N\
X228

F(quR)
|+

Rk

3] |81l € 20
MARKET

11199 (625 2_

FINGER in coded as 15232112239
and MARKET in coded as
14192916252

MILTON in coded as ?

FINGER &I 15232112239
$ W9 H difed fear Tar &

3k MARKET &I 14192916252
® WU ¥ difed fe&ar T 8
FINGER & &9 ueR difed fean

SITQT? 2D
(a) 222221335 QZ”\l

‘bl 21223239525 @

(d) 222122353295



—{8, 15, 9) is related to;
g.l (8, 15, 9) frad Hafdd 2|
(a) (9, 12, 16) —»37
(b) (15, 17, 11) 4?3

(d) (7, 13, 14) Y



PACIFY
MERIT &I
INSULT &9

(a) ROOHHN
(b) RHOHON
(c) ROHOHN

|/ RHHOON

ICG



(6, 17, 612) is related to :

(6, lﬁ;;) freae gafdd B |
oA 2 (a) (5, 18, 452)
A =1L (7, 15,735
:”': (c) (8, 13, 414)
(d) (4, 19, 204)

®



Which of the following numbers
will replace the question mark (?)

14 : To:: 11 : ?
fr=foReg & | @9 @ 9= 99
ferg (?) @ wfoeenfia H¥f?

14 : 70:: 11 :?
(/(arzi"

(b) 33

(c) 66

(d) 88



Whlch of the following numbers

,fe-pl?ilhe zﬁiﬁlon mark (?)

ﬁﬁﬁmﬁ d ¥ o9 9 9@ ¥
fog (?) @ uforenfia Hfi?
5:45:3:3:6:7

(a) 90

(b) 106 1°

(c) 110
(d) 9@/



Which of the following numbers
will replace the question mark (?)

frefafea & | @9 @ d@r ged
fore (?) @1 ufceenfia wwfi?
UV, OY, IB, EE, ?



Ticket, Aeroplane, Rail

(b)

(c)



(64, 8, 65
(125, 27, 89

Direction: Select the set in which
the numbers are related in the
same way as are the numbers of
the following sets.

(NOTE: Operations should be
performed on the whole numbers,
without breaking down the
numbers into its constituent
digits.

E.g. 13- Operations on 13 such as
| adding / deleting /multiplying
etc. to 13 can be performed.
Breaking down 13 into 1 and 3
and then performing

mathematical operations on 1 and
3 is NOT allowed)



29

]

(64, 8, 65)
(125, 27, 89)

-

>

) (100, 23, 90)

)l(i (216, 1, 81)

A€) (49, 36, 25)
A~
_4d) (83, 24, 95)

S Y=g BT 9a+ Difeg foraH
T S UeR Aefd B oy geR
NP % o o it

2 |

(Are : &Rl & fAvH §9g &1 99+
| (B < ARl B SHh HuUeH
3ipl # fawifora fby famm, qoi e
R |Afshan Ferfed &1 S a9y |
IS8T ‘13’ — 13 WX Hihaw oY f&b
13 # ST/ ¥SHT /O HRAT g4I
13 ® fhar < |Par 81 13 &1 1 3R
3 H fawrfora &ar 3k R 1 3R 3
ORI Afshar &R B SrgHfa 8!
2 1)



46:61 related to:

46:61 fHraq dafdg 87
(a) 60 : 28
Y (6 /:(b) 521 :52 )

(c) 27 : 3
(d) 612 : 36



Which of the following numbers

will replace the question mark (?)
146, 90, 56, 34, 227

frefofed & 9 @9 W 9= U9
fag (?) @1 wfawenfid &w?

146, 90, 56, 34, 227
® i

(b) 10
(c) 14
(d) 16



If EQUALITY: is coded ,as

AEQUILTY, then PER#ONAL is
written as ?

c QUALITY afd EQUALITY &' AEQUILTY &
R w0 § PR R S &, @

sy | anrssry pERSONAL fas wT # ferar
nequ JLTY o
1 EQU T (a) EPRSONLA CIRSIALNY

(b) AELNPRO

(c) EPRSALNO ©

(d) PESRALNO



If ‘PLANES’ is coded as ‘EAACERH’
then ‘GUILTY’ is written as ?

Jfe ‘PLANES’ & ‘EAACEH’ & ®U
¥ Pifed ﬁa-m ST 8, a5 ‘GUILTY’

(a) SGIBEA N
oy 40
(c) GEEABG q A
(d) SAGIBA @



If 763 is written as 70 and 852 is

C- 9’ '}' 6 T } O< written as 41 then 974 is written

as ?

%
- 72'1'6?'?3 >< If¢ 763 B 70 IR 852 Bl 41
for@r WU @ 974 9 {9 UeR foran

| 2Ly 7
- r;'+ei+2'3 ~\1/ ;)rj;z I+ (ngc’
|



2 Which of the following numbers
(> 3— a will replace the question mark (?)
L_,B?_Xg_., 8:120::11:7?
|,'1x5'7¢ frefoRea & @ o9 @ w& a4
C i fire (?) @ Wi aef?
_ 8;“3 i ?( S 12011387

L 6564  1Z>)12| (a) 188

9x3 T8 |xo= 110 1xH3y
< 23 or

(c) 191
) 288



23 23 S
s x N7

(23, 29, §55) is related to ?

(23, 29, 55) fFad Haftra 87
(a) (17, 23, 49)

(b) (14, 22, 21)

(c) (17, 19, 31)
() (53, 27, 72)

U
gx 9



Which of the following numbers
will replace the question mark (?)

frfoRaa & 9 o9 Wt 9= 93
g (?) &1 ufoenfia &7

(a) 22 (c) 23
(b) 26 \)/



Which of the following numbers

\}lllgiﬁzaftii_{le question mark (?)
7

. 7.8,2.8.1,?22
fr=foRed § 9 @9 4@ @& g
forg (?) & ufoenfia H¥f?
2,7,5,2,3,1,?
(a) O
(b
C

(d) -1



O U218=24
[
R-24=18

42 : 18 related to ?
42 : 18 fraq Haftg 287
(a) 71 : 45 —=3J|-13
(b) 19:5 — -9 £
(c) 31:29 —3)-13 K

l/(cH’10=9 —1v-0l=9

&)



If BOOK is written as 139 and
PEN is written as 302

How will COPY be coded?
Ife BOOK &I 139 3R PEN &I 302

wasr_y (OPY

(c) 1711

(d) 279 a




If SALUTE is written as IUAMET
Then MANGO will be written as?

g A LVTE | UAMéTTﬁ SALUTE &1 IUAMET for@r Sv
N ="

N




M Select the correct mirror image
of the given figure when the

mirror is laced at ‘MN’ as
C M 7 9 0/0—' $ shown. ’

N od YU &l WY Y AR ‘MN’
R TGN WY TS B B A
U B BT T B |

@2 . M97%3 X
b) g . % 9gTMC X

92 - °CYMO

@g .09yYMIX




Direction: Select the set in which
the numbers are related in the
same way as are the numbers of
the following sets.

(NOTE: Operations should be
performed on the whole
numbers, without breaking down
the numbers into its constituent

digits.
E.g. 13- Operations on 13 such
as | adding / deleting

/multiplying etc. to 13 can be
performed. Breaking down 13
into 1 and 3 and then performing
mathematical operations on 1
and 3 is NOT allowed)

(3, 4, 98)
(5, 7, 480)



(3, 4, 98) SH 9Y=d &I g9 diforg  foraH
/\ &Y Sl YHR et 8 e yeR
L= (5, 7, 480) PRy wHwl @ WeA e
2 |
3%_|.1.{%+%4—l1 5}-1":’%-]-5‘-1-".)- (A : =Rl & QyH §9g &1 994
| BEFE T A=RI B S
Hued il # fawiora feg fa=m, qof
@ el R wihand fAsarfed Y S

qIiey| S| ‘13 — 13 W

@ o= & 13 H

%(7 3, 855) ST / €Sl /O AT sdlia 13

e q fhar o 9dar 81 13 & 1 3R 3

q feaforg &= ik fR 1 8k 3

SI4A2gpy) (152 17, 2033)  wfercra wifpany et o Ry Y
78,9, 1258) R

(b) (24, 6, 1050)



A%

(?Rﬂr('ﬂcc
WVZMS?CS

If in a certain language
PRACTICE is coded as
WYZJARJV and SOLUTION is
coded as ZLSFARLU, then how
COMPUTER is coded as?

gfe fedy fAf¥aa 9T § PRACTICE
P! WYZJARJV 3R SOLUTION &'

utszARLU$wﬁaﬁI%am

C o/ OGT 8 T COMPUTER &I fod

+F UBR ST far srgr?

(a) JLNWFZVI L-TNF

(c) JLTWAFVY

(d) JLMWM



If in a certain langu £s, CONEis

coded as 3113 and T is coded

67(\ @\W%{-——’%ISD sas 321, then how TREE is coded
CONG —3-15-1473, .o 20185 an0 -8
gfe fedt fAf¥aa W § CONE &7

R 3113 3N RAT & 321 & ©U H
31| difed fhar ST 8 @ TREE &I

g PIfed fHar Srer?
‘)A{QT: (b) 5936

(c) 7652 (d) 2631



Which of the following numbers
will replace the question mark (?)

fr=foRag & 9 @9 @ @& g

% g e

, 10,2 84 247, "
340 3% 2 i 3S+\|
(a) 672 (b) 731

(c) 729 u“ﬁ“ @



Which of the following word will
replace the question mark (?)

fr=foiRag & 9 @9 4 S&r ueH
fre (?) @ afovenfua syf?

%QTE ?%ﬁab 2‘QD

(a) InNO  (b) uvWX

'/n@u.l (d) wxYZ

©



O
V/A
.74 N
O O

(b)

OV

The sequence of folding a piece
of paper and the manner in
which the folded paper has been
cut is shown below. Choose a
figure which would most closely
resemble the unfolded form of
the paper.

SN & Uh Chs DI e I HH
IR Y §U DI Bl Plc DI dAADI

o fRamr T g1 R arafa 9o
Gl BT & Gol w0 F 99 3NfeD

fyerctt Serelt &7 |
200 |9}

VO \Y% O
(c) - (d) = .
O O




If Ameans +, ¢ means x, $
means +, & means —. What will be
the value of given following
expression?

e ABT 3f + 8, 0 BT 3 x B, $
B g + B & dT I - B
f=forRaa o &1 919 1 BNTT?

(a) 104 (b) 100
(c) 96 ¢¢)(94 @
50AT5 Q50 $75 %6



